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[T-IEW?W / New Syllabus j

Fo I F FEA : 17+6+6=29 )
Total No. of Questions : 17+6+6=29 |

[ $@ qfsa g1 F 7EA : 16
[ Total No. of Printed Pages - 16

0-212301-A
faug ; srEvTe

Subject : Accountancy

g : 3gue | [ quis : 80
Time : 3 hours ] [ Maximum Marks : 80
wgaqof fAdr () 9E-T @7 @l § fawfaa —(31), (9) @ (W) |

Important Instructions :

Question paper is divided in three Sections—A), (B)
and (C).

(i) @8 (37) & AWt ¥ T He Afaad 2

All questions of Section (A) are compulsory.

(iif) @Y (¥) W (H) ® | F ot T WS & FCN R |
Solve any one Section from Sections (B) and (C).

(iv) JOF @98 & O y¥ & SW & @ WA R faa 9.
Tifeu |

Write all answers of each section in same place.

(v) ifywan w=-dm #1 oo gt dgifas v & for 1

Maximum word-limit is only for the theoretical questions.
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WUE-( 31 ) / Section-(A)
WHE waf Aur b ¥ fae Sar
(Partnership Firms and Company Accounting)

Adr : m-(m)tmﬁwﬁaﬁaﬁﬁtmm1ﬁeﬁaﬁﬂqﬁﬂﬂm
1 v T W1 i Fruifa 3 ) vl v # IO VR W 2 ArE |

? a0 TS g o ¥

: All questions of Section-(A) are compulsory. Question Nos. 1to 6 are very

Instruction

sh - :
. ort answer type questions carrying | mark each. Answer these questions
in / word or / sentence and also include objective type questions.

H’lﬂﬁ'@ T :

Objective type questions :

w1 A R
(37) =afeama @
(Q) AHAR Gl
Current A/cis :

(a) Personal A/c
(c) Nominal A/c

uy-2 . Ay A 2

(§) W@ @

Super-profit means :

(a) total profit/no. of years

(c) weighted profit

( 3) e W

(%) wifrm ®
Shares can be issued :
(a) atpar

(¢) at premium

'37) FA ev/ad H wE

sivi o1 fonta fean o wehan € :

(F) arfas @
() 378 Q +E &

(b) RealAlc
(d) None of these

(F) 3Ngd AY-TEg AN

(3) 3 & 3 &

(b) average profit-normal profit
(d) None of these

() TN
(3) g uit

(b) at discount
(d) All of the above

(1)

(1
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Gafd & qeaiH 1 U w2
What is the base of valuation of goodwill?
QTR FH { Fa e € FHa } 2

When can a partner retire from the firm?

T F Y A fead g B §0

How many minimum members are there in Public Limited Company?

(1

I FEE 7 Q10 9% Y 3909 w9 ¥ | vl W W 3 s fAvif@ €1 sw

F1 Afuwas yez-dmy so v ¥\

carries 3 marks. Maximum word-limit of answer i1s 50 words.

TF FEEA A T 20 TR 15000 FHA1 39 O W W b | Wl T
THFY W & T | F R g § avas usi wfafedt st

A company issued 15000 equity shares of ¥ 20 each to the public. All
amounts have been received in lump-sum. Pass necessary Journal

Entries in the books of company. https://www.cgboardonline.com

TH FEA A T20 AR 25000, 8% YEUFR 3w S W WA FwA
vl ofe Tva Wa A T FE ) gl § savas g wfafeat
Fifs

A company issued 25000, 8% preference shares of ¥ 20 each to the
public. Whole amount was received in lump-sum. Pass necessary
Journal Entries in the books of the company.

o& FHAT A T 72,000 YA & WA FF A IS PaE A 2100 9
yoiew wwa 3w foifaa feu <ot wfafedl dfsm, afe siv v w
fifa €

A company purchased assets worth ¥72,000. It issued fully paid-up
equity shares of T 100 cach. Give Journal Entries, if the shares were

1ssued at par.

¢ Question Nos. 7 to 10 are short answer type questions. Each question

(3]

(3]

(3]
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W-10 W eE wn e ? (3]
" What is Partnership Deed?
Adar : W HES 11 Q& 12 9Y 907 v § ) T&F T W 4 3iF Fuifa & v@s
T W A faweq €1

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question
carries 4 marks and has internal choice.

m—u’ T e i fafrifom goft 2 1,00,000 § 1 39 yHR & saEm § 10%
I I 1 fred f el o ot oy 2 12,000 ) AT HorE
& TR, B HI [odi Afqa™ F & a6l F H7 F IR T AR
1 Tl w1 g Pt (4]

Capital employed by a firm is ¥ 1,00,000. Normal return of business
is expected at 10%. Average profit of last three years is T 12,000.
According to partnership deed, goodwill is valued at two years'
purchase of super-profit. Calculate the value of goodwill..

3rear / OR
w3k wHE @ v A o F aEer §) = G
T 20,000 3R T 16,000 ¥ | ar¥ltE Wi WE T 600 AT IR T Srfuwrt R |
ot R 6% affa = fean o # 1 59 ad 1 e ST TREIA &
qd ¥ 12,000 911 T1M-81F FrREeA @@ S5

Alok and Ashok are equal partners in a firm. Their capitals are
20,000 and ¥ 16,000 respectively. Ashok is entitled to get salary of
T 600 per month. Interest on capital is 6% p.a. The profit of the firm
before the above adjustment was ¥ 12,000. Prepare Profit and Loss
Adiustment Account.

y-12 < e i R o @R 3w siw fafag (1x4=4]
) Distinguish between Fixed Capital and Fluctuating Capital Account
(any four).
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39qT / OR
Bt 37 & Frd WR FRw frfa

Write any four causes of creation of goodwill.

Fdvr : mmwﬂwwﬂﬁﬁﬂwmtl
mmmaiaﬁa;ﬁm‘éi

Instruction : Question Nos. 13 1o 15 are long answer

T W W 6 3w fuifm §

type questions. Each question
carries 6 marks. Each question has an internal choice.

m—ﬁf'aﬂza"a'mwﬁmu@m%.a'wﬁwﬁﬁwmm
1 Wewa ¥ 131 fewmn, 2016 ! I Fagar Frferfaa &

fazar
(31 femm=, 2016)

ﬁ afer P afor

(%) (%)
AT 10,000 | &g ¥y 2,000
g fag 8,000 | TR 7,000
- (%) Y 3,600
‘A" 6,000 FEaT 400
‘T’ 4,000| 10,000 | wE 15,000
28,000 28,000

wuTEre g & v & gd frafafaa aomiem feg o -
(i) AT 1 qEd ¥ 250 famrn )

(i) wifary %N ¥q T 300 F wAyR fm S )

(i) T 600 fafam zwim # 1

(iv) m TEEm ‘|’ ¢ 4,000 Y9t T 2 3,000 Tfa & faq o

TTHR Y1 & AW G AR WA (¢}

P.T.O.
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{4 and B are cqual partners in a firm. They admitted C as a new partner.

Thewr Balance Sheet on 31st December, 2016 is as follows :

Balance Sheet

(as on 31st December, 2016)

Liabilities AT;';M | Assets A'(“:l;"t
Creditors 10,000 | Cash Balance 2,000
Bills Payable 8,000 | Debtors 7,000
Capital- (%) Stock 3.600

A 6,000 Fumiture 400

B 4,000 10,000 Plant 15,000

28,000 28,000

The following adjustments are to be made before C's admission—
(i) Furniture's value ¥ 250.

(i) The provision of undisclosed ¥ 300 on debtors.

(iii) Investment T 600.

(iv) Newly admitted partner C brought ¥ 4,000 for capital and
T 3,000 for goodwill.

On the basis of above information prepare Revaluation A/c.

HUar 7 OR

‘% ' v wd A GRS 32 F un  av-Tifa |l ¥
TR R F < W T FERR R 2 30,000 $ ¥ e @
W3 WM F FA @ T 16,000 § A/ T 10,000 THE A B 1 SEAVIF
T wfafeal #ifau)

A and B are partners shaning profit and loss in the ratio of 3:2. They

R |
admut  for <

for share. ¢ pard T 30,000 for capital and T 10,000 out

of his share of goodwill T 16,000, Pass necessary Journal Entries.
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'3’ at '’ U wH § areen ¥ a - 300 ¥ arqama | =t ¥

uH-14
31 femm, 2018 #3761 faga frefefoa & :
faga
(31 fea=g, 2018)
SR 45,000 | &R 20,000
‘a1’ W 20,000 | fafay wufemat 70,000
Joft— )
‘3’ 10,000
‘' 15,000 25,000
90,000 90,000 =
3q fafa =) o @ faues gan) e | € 15,000 ud fafay wmfa | ?
% 60,000 I TT | TG Gral SA3Y | [6] )
A and B are partners in a firm, sharing profits and losses in the é
ratio of 3:1. Their Balance Sheet on 31st December, 2018 stood as U‘;
follows : g
Balance Sheet g_
(as on 31st December, 2018) %
o
Liabilities Amount Assets Amount 8
(%) (%) =
Creditors 45,000 | Debtors 20,000
A's Loan 20,000 | Sundry Assets 70,000
Capital- (T)
A 10,000
B _15.000( 25,000
90,000 90,000
They decided to dissolve the firm on that date. Debtors realized
T 15,000 and Sundry Assets realized ¥ 60,000. Prepare Realization A/c.
NM-43A P.T.O.
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Haar / OR
TIYF 9 F FrAEnl & Avm T wrvas oA At #
On the basis of deals of the above question, pass necessary Journal

Entries.

W¥T-15 &% FH 3 T 100 3@ 2000, 5% Hurqy foifaa feo ) 2 10 smaza o

e

¥ 40 3TaA T A 99 wum A sifem whn gz 37 ¥ | we e wra o F o
F [ § SEvaw 9o wiafeq #ifau [6]
A company issued 2000, 5% debentures of 100 each. Amounts arc
payable ¥ 10 on application, ¥ 40 on allotment and the balance on
first and final call. All the amounts were duly received. Pass necessary

Journal Entries in the books of company.
HUgT / OR

w1E 3é fafwes 3 T 10 wfa sim % 10000 3tw sAM F Fifoa fa,
e T 4 amagA W 2 3 smEe w ud T 3 ey i sfam ain w #m
€ 1 |t Tf wra 2 ot ) e Y gl § ush wfafest Fifm

Fine Art Ltd. issued to the public for subscription of 10000 shares
of ¥ 10 each, payable at T 4 on application, ¥ 3 on allotment and
¥ 3 on first and final call. All the money were duly received. Write

the Journal Entries in the books of company.

Y9 FHIF 16 U4 17 WEATHS ¥4 & | YAF U W 8 37 fauifa # | yers
v R afe faseg &

Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries

mjﬁe

8 marks. Each question has an intemnal choice.

X, Y, 2GR ¥ foe env-favem srua 302 1 8131 femm 2010 9
X &1 @ 3aF Te0 FT ¢ 1 39 fe & ufa F1 it 220,000
fem a1 ) g8 favem fem man f 3@ wfa a4 23,000 afdw gfa ugfa
[ yraF o Simem ) 78 e yfa a9 #: 1 S0 FfEm Smen ) gem

IR =61 1 aiffs gfa ol 98 AEE TR R 9 B T 6% afa i R (k)
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Y, Yand Z arc partners sharing profit in the ratio of 3 : 2 : 1. X retires
from the tirm on 31st December, 2010. The determined amount of
his share 1s T 20,000. 1t is agreed that this should be paid by annuity
of ¥ 3,000. The first payment to be paid on the following day and the
subsequent payment on 1st January of each year. Prepare the Annuity

Suspense A/c for 4 years charging interest @ 6% per annum.

HET / OR

‘S, T W T A e sk e e ) % %% %
U ® fawfea wta &1 31 feamar, 2018 Y wd +Y fasitg feafa faamw

fA=fafaa @ -

fazar
(31 fewe=, 2018)

T i () wufwat afn(T)
AR 19,000 | &% § TFS 2,500
2y faa 5,000 | ¥7ER 15,500
wfaa fafu 12,000 | 3ifam TEfaan 25,000
Har—  (3) e e 8,000

‘3’ 40,000 LR T 35,000
‘T’ 30,000 v d 45,000
‘w’ 25,000 95,000

1,31,000 1,31,000

'R’ ST A 1 AR, 2019 F guE € ¥ ) g FrAfafea waEeE

FAE
(i) H % wafa ® ed T 18,000 TN T )
(i) YT T 10% a1 TIZTME T 15% WE Tl ¥
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(i) &Y H1 TR 20% A s VAR B ge & 10% dF agT ¥ |
(1v)  STVNA WU ®Y &1 T 1,950 AF a1 ¥
Ivgw =Een ) FAifad $63 & fau ey am g ‘a1 fe
@ T |

A, 8 and C are partners in a firm, sharing profit and loss in the ratio
!

| l .
of —, —, —. Their Balance Sheet on 31 December, 2018 is as follows :

2 3 6
Balance Sheet
(31 December, 2018)
e Amount Amount
Liabilities (?) Assets (%)
Creditors 19,000 | Cash at Bank 2,500
Bills Payable 5,000 | Debtors 15,500
Reserve Fund 12,000 | Closing Stock 25,000
Capital A/c— (%) Motor Vehicle 8,000
A 40,000 Machinery 35,000
B 30,000 Building 45,000
C 25,000 95,000
1,31,000 1,31,000

B retired on 1st Jan., 2019. Following adjustments are to be made :
(/) Firm's goodwill is valued at Rs. 18,000.

(if) Depreciate machinery at 10% and motor vehicle at 15%.

(iii) Stock value increased by 20°%0 and building by 10%.

(nv) Bad debts reserve increased by T 1,950,
Prepare Revaluation A’c and B°s Capital A’c to execute the above

adjustments.

_https://www.cgboardonline.com

WO QUIUOPILOQ3I Mmm//:sdny



WY dUIUOPIROQII Mmm//:sdny

wi--17

e

Instruction

https://www.cgboardonline.com
1)

X fafTes 3 2 100 a1 10000 3fw Frifira fFT) 39 W T 30 TEA T,
T 40 AN W, T 10 WUW e W w6 T 20 Sifaw A T g 2w
TR AU W R ) F @ g § oravas o vt
ity |

X Ltd. issued 10000 shares of 2 100 each, payablc as ¥ 30 on
application, ¥ 40 on allotment, ¥ 10 on first call and ¥ 20 on final

call. Assume that all the money were duly received. Pass necessary
Journal Entries in the books of company.

HYaT / OR

TF FFHI 3 T 100 T 2000, 5% HOA Foifaa ) 2 10 3EEA T,
¥ 40 3MEA W, T 20 WU\ = W A W 3w g W 24 A1 G
T 9T & 7 | ot o gl W staEs o wfafieat W)

A company issued 2000, 5% debentures of ¥ 100 each, amount
payable as T 10 on application, ¥ 40 on allotment, T 20 on first call
and the balance amount on final call. All the amounts were duly
received.

Pass the necessary Journal Entries in the books of company.
WUS-(|) / Section-(B)
i faaront =1 fygermor

(Analysis of Financial Statement)

(8)

WY HH 18 T 19 Afdey i weh & 1 vls W W 1 o favifa 2

question carries | mark.

Question Nos. 18 and 19 are very short answer type questions. Each

wv-18" we fasea 9T "
Choose the correct option :
T ) @R FEI 4 e ¢
(37) e HI () o aeea SO
(7) A A (3) Id= af
P.T.0.
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The most rigorous test of hquidity 15

() current ratio (h) absolute liquid ratio

(<) hqud ratio (d) All of the above

w19 fireita forarrol @ e w1 F Fwer &2 (1]

What is called the valuation of financial statement?

o :mmﬁzoﬂzzmmmwf|qﬁmmm4ﬁﬁm&&atl
v yv W i faweq ¢
: Question Nos. 20 to 22 are short answer type questions. Each

carries 4 marks. Each question has an internal choice.

Instruction question

m—o mmmtmﬂmm(ﬁémn (4]

Discuss the importance of cash flow statement (any Jour).
rerar / OR
Yz yame faarn #) d@and fafae (FE 90 |

Write the limitations of cash flow statement (any Jour).

gr-21 e AT R AR @ WTE QS FaTE F o Hif 4]
| - 31-3-2018 | 31-3-2017
(T) ()
Ay xifa faerm & arqeR 99 54,750 27,000
srarfre gifet 11,250 13,950
7R 7m 10,200 17.850
| i 18,000
T = 14.000 12.000
=ararfry 2ot 12.000 44,000

——
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(13)
Calculate Cash Flow from operatin

following information -

8 activities with the help of the

Particulars 31-3-2018 31-3-2017
@ )
Balance in Statemen of Profit and Loss 54,750 27,000
Trade Receivables 11,250 13,950
Outstanding Expenses 10,200 17,850
Patents - 18,000
Prepaid Expenses 14,000 12,000
Trade Payables 32,000 44,000
34Aqr / OR
Frefafea faarol | warem @ wa AHT F) Tor Ffrg
ad2020 | =k 2019
feramor
(%) (%)

Ew— 15,000 12,000

3red =Y 3,000 1,000

w = 2,000 2,500

- 13,000 15,000

ad 2020 F AT AN FI X 25,000

From the following information, calculate cash from_ operating activities :

Year 2020 | Year 2019
Particulars ® ®

Debtors 15,000 12,000

1,000
Outstanding Expenses :;,(:(]; o
Prepaid Expenses |3'0,0.0 15:000
Creditors )

Profit during the year 2020 is ¥ 25,000
P.T.O.
——
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w22 Fretfefer e & wrg srqam # o FHAC 4
F HIF 2 1,00,000, iRt F19 2 60,000, R - A ¥ 20,000, 7
=g wafei € 50,000
From the following information, calculate Current Ratio -
Total Assets 2 1,00,000, Shareholder's Fund ¥ 60.000. Non-current
Liabilities ¥ 20,000, Non-current Assets 2 50,000

3yar/ OR

Frferfea gam | wwem srum #1 e #fAC -

] e 2 50,000, =] Hufwal € 80,000, Wi T 25,000,
JeER 373 2 5,000, 37N T 30,000

Calculate Liquid Ratio from the following information :

Current Liabilities T 50,000, Current Assets T 80,000, Stock
T 25,000, Prepaid Expenses ¥ 5,000, Debtors ¥ 30,000

WO QUIUOPILOQ3I Mmm//:sdny

frdwr : 9w 23 <Y IT0T WA 1 T W W 6 3w Fvif €

Instruction : Question No. 23 is long answer type question. It carrics 6 marks.

wA-23 A foedril & ke ) wwen (9 7)1 (1x6%)
Discuss the objectives of Financial Analysis (any six).
HIqr 7 OR
s favdraon an ewad favavo § s Fifag ) (6]

Distinguish between Horizontal Analysis and Vertical Analysis.

e

NM-43A :
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WUE-(w) / Section-(C)
PR @i

(Computer Accounting)

A

Instruction : uesti 3
Q on Nos. 18 and 19 are very short answer
question carries | mnark.

wA-18 W& fawew g .
Choose the correct option :

ﬁﬂrf‘?rﬁaﬁﬁﬂﬁq—mméﬁm%?

type questions. Each

(1)

(37) MS Affeg () mfrag
(/) wiHR (?) wrRmw
Which of the following is hardware?
(@) MS Office (b) Graphics
(¢) Monitor (d) Photoshop
w¥T-19  DBMS 1 qU 711 fafgu | [1]
Write the full name of DBMS.
Fder ;W HEH 20 ¥ 22 % oY I9G W ¥ | UAE T W 4 aiF FuifE ¥

Instraction : Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. https://www.cgboardonline.com

https://www.cgboardonline.com

TYT-20 BIE9T U4 Qiwad § Iim o &Ifu (FE |0 | (1~4=4]

Distinguish between THardware and Software (any four).

Har, (OR
Fu77 A FAFAL H HA L wife (FE T |
Differentiate between (omputer and Calculator (any four)
jferentie
T P.T.0.
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[16]
WPH-21  FEgE(Ed d@iE Y ¥ 2 wayEe (FE a0 |

Discuss the disadvantages of Computerized Accounting System
(any four).

[l!-4:-¢4]

year/ OR
daiFT ¥ Fr # yfuw sarg ) 4]

Write the role of computer in accounting.
W¥T-22  SIEW ! avawal fafaw ($8 910 | [Ixd=4)
Write the necessity of Database (any four).
a7/ OR
TR WY JoIed ¥ e fafan (2 &0 |

Write the functions of Database Management System (any four).

Fordor : WA huiE 23 4 sata v ¥ 39 9 W 6 2iw favifa@ €

Instruction : Question No. 23 is long answer type question. It carries 6 marks.

WyA-23 TR fawr o 3 fadeand fafae (98 @) | [1+141+1+1+1=6)

Write the characteristics of Electronic Spreadsheet (any six).

3Tear/ OR

-39 FF T H WFH O AR | a| ¥ (P ) 2

What are the main elements of Payroll Calculation (any six)?
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